F65[0 HEERMER BFR—&

A1t =5 S\ R #H £E 2E| IR JEZE | Soor| NEL | 1BE
6/15 |FE65EIEBEERIRIAK #Z | B |100m 10764 +2.0 732
~17 RE EHH 3 10783 -14 iR
10782 +0.4 | R 5
BF #4& 2fz 284 200m 22717 -0.1 PR
byp 238 24 B Ea s 22”32 +1.8 iR
74-IWb 5 9fL e = 22722 -13 | 2
Ak & 2 " oyss | 20 | %
800m 1'58”33 PR
5E B 3 1’55798 #3R
1’53714 R 2
1'56”60 P2
BES E—8 | 2 1’57722 #iR
154”10 R 5
3000mSC  |MA HX 3 900705 b3 1
H —# 3 9'36702 R 16
4%x100mR |1.¥7M A0 2
285K KA LI R -
e X 2
47K EE 2
1.8 X 2
2.fRER E4% 3 41706 .
KK N7 1
47K EE 2
148 Mx 2
2[R E#F 3 ”
Ak RS ; 40”70 by 3
4Bk BEE 2
4x400mR [1FR)I BX 1
2.;?33 PN 2 316717 -
EK EE 2
4B RS 3
138 Bx 1
PX-1: 3P 2 -
sEK EE 2 315788 by 3
ARE Rl 3
P.v A g1 3 5m00 P 2
B Ex 2 4m40 R 11
LJ #wy WX 2 6m68 +0.3 32 15
TJ A £ih 3 13m85 +2.7 52 10
D.T NG — 2 42m34 R 8
Bk BEE 2 42m15 iR 9




a1t =E BT | 25| f#H HHET PE| IR | BE |U2F| IE | BE

FE65E BB SRR % [100m 11794 +2.0 F5R
BE #E 2 11781 +09 | #% EGR
11797 +.9 [ = 1
ZF #BE 3L 45m 12729 -1.0 ¥
Fyy 32/ 24 R &5 3 12”05 +1.3 #iR
J4-WN T8 6 12716 +1.9 bl 3
200m 25”52 +1.6 P

H£H FHF 3

25”33 +1.0 R

25756 +0.3 FiE

= R 2 25”83 +1.6 iR
400m 57”86 732
e BE3F | 8 57”34 3R
56”75 R 4
58”09 ]
H$H EHEF 3 57774 #iR
58”24 R 3
_ 57792 732
=& KK 2 57743 ey
800m 216”76 732
W BE 3 | 215706 iR
2'08"76 R 1
100mH 13774 +0.9 ¥
RE @BE 2 13774 -0.1 R

13774 +0.5 R 1

4x100mR |1.%:E WA 2
2. #F 3 " )
IE B o 47741 P2
4.8 BEmAR 3
1.R%E BE 2
2. #F 3 " s
IE B o 47752 3R
4.8 BEmAR 3
1.RE BT 2
2.FH BF 3 ”
T EE 3 46736 S 2
AEE #E 2
4%x400mR [L.LLE HEX}F | 3
2.=8 RE 2 e .
ssd B o | 39099 T
450F BE 3
1LUA BREF | 8
24MH =#F | 3 -
I=H %% > 3'53742 P ) 5
4§ BX 3
H.J FE 7 2 1m58 R 12
PV HE TR 2 3m30 R 8
LJ = AEAL 3 5m68 +0.7 il 6
T fF 3 5m38 +0.8 52 16
FE kT 2 5m19 +0.5 52 21
TJ i fF 3 12m27 +2.1 P 1
=¥ HmAK 3 11m85 +2.3 R 7
SP BK ELF 2 11m60 Fi& 9
TE BB 1 11m37 P 13
D.T TE EE 1 37m24 R 8
xH 1Yy 1 35m74 32 12
Heptathlon |{REE HEF 2 4928 P 1
700mH 14791 +1.5 854
EEEk 1m66 806
AR 9Im74 512
200m 26758 +0.5 747
Vo373 5m39 +22 668
BR 37m06 611

800m 227704 730




